o |

—__;5"\ ndu cbion i C@V\‘(["\V\-QA {"\

AS we  SawJ lASL’ L—EM‘, /‘M\’LLM{'CC.R\ L‘AAL\(_(—-(U’\

Cn ]o.p‘ w S@ l/o ?I\C)UL a sSeries c)/v@‘ -‘(Bf‘a%)osfl"ldms
Pl Br n=t1,3,- - Use Y skeps:

/A’) [ bousde} C», tad bl P("‘\ Shus .,

r’) Chack the hasis _Step PO

/P) \Je/\@ﬁ EL\L l'\cL‘-sC("'-/e_ S@"&O b\-! Sl\-el-dtv\‘z

EJ’\D\& lﬂ P/V—\ s Erwe (pzvr "“"“l l@w E‘Lﬂf\

P(W.-'rt\ mast be brue ., |t can be & ‘ioucj

idas o warks owb ngh Pl aed }”/K-H\

Saqy  qug fa),\«nc.re

@) \{S‘;‘ 10&4 /"\AthCﬁ\ tndaction P(") LS

kf\ﬂ.& L. ol nsg "

Mare exa~ (’LQ .

—_—

(O Prove thee 1431434 --43" = 3”01

-

9}/‘ o.‘\\ V\?r | <

e B ﬂ ) Says A3+ - 43 = BT

(8) PLY says | 42 = '_5_"”_.1 N

L = (j(-:_:— True /

Ahis wertlios vhe Lasic sA<p.

/) ’ro uencu, ‘c'LL '.};ﬁﬁ:!c‘c@u.)a %‘rep w e Sl-:r\_;:

bu a.sq'u.n-nng P(&t\ {s &fee_ /(‘{Mn.ce " er‘\

‘L&_LJ
le A
l4v A3y - 43 = 3 | e

.f""_'"_—_—.z —



Line

Rectangle


LLE

i v+ tat
ey 44 - 43743 = 3 =1 &,

Ccuv\%\é«fa he el cides % p(”"-) eed Pl .
Add 3" 4o hoth sides o  ppe)-

\ B+ e
DA il MRS, el = Yl ?;,;ﬂ 5 ‘!
< /va\e_\
N\'f———-—*J
. Simlify
7 L= = -
?) +f_! 1 2‘3 { Q/
s, z
e+ | e
- 3 23—

.

prae=
- )3T - 2.3 _

2 - .

_ h,—{"‘- '
=2
S0 Plr) {,-\‘L\:‘ej that
b2 leA"L
14343 - 43 = 3 1
=

whech (s B aud  Plr+). This Erniches

kLe_ vndue bioe JI‘CQ‘

@ gé} 17'-1 /"\Ai’l‘tl“\&hf,cg_\ {AAL\C(‘JUM

P@j (s tvee r all _w> ( .[:

—.—--__‘w




G,_’f_i‘_’ls.&e- @ Pr Ove. ’CLL_ .Lw_ﬁ:ﬁbn—.\j;}__ K = 2_.«_ s

brwe  Bie M A B O,

Sol uwklown?t @ P(ﬁ\ Sa s P\‘ZA_ @) TI\L basis

g,{—u\) LS Q)r n=0o this time

F(ﬂ, Says o < 2° trwe  becauwse 2°=|

P

@ r che Fadive e %L-Qe oS Sun—e P(h.) s Erae

e
ke < 2

cnd _ure khis e pro-e PC&H—J (e et <2

COMJ\&/"\\ J(L.:_ r&,"l* sI&eS kS wre to sec

{/ku- ’)”"H = ’2’_-17_kL = ’ZK—I—?_':- B

L= _

P(-k\‘ . ke £ 2 Ere e B
So e +\ £ Z_“_%’k Eru e

o e\ < 25 42" —

b
TEYA Af
w4 { ~
5 e kAl < 2 bruwe_ e 2

and ({lm'“g v S P(_K—-l—t\. We’ e p{n{s}v_c) l;'}u:_

—
\'-r\tll-\(‘ Lloe S’("e.?.. |

_——-h_h\-

/§> By the Qg‘nct,ﬁ(e ok tnduckion,  {(n) ol S

i - 1 N
o ——— —_———

e by o\ n= o

- -
————




®

é”xahﬁka@ Prav’e_ ‘(kadr V\G—-f\ 15 ci(uas[[q(Q

’ro a,e)r [ uw\&fsl—a..\émq »(l k'lu_ {Jm’alem

LQ‘\'S lcole o b 1k ﬁbf A(cce/.e..,&. ns QF/;{*

n=o N-n = o-0 = O 3lo s
3

= | n-wn = 11—\ = O '3(0 \/

n=2 Non =22 = & 26 Vv

e n’-n :33-3 = 2% 4

5o 2|60 o

S
\
.F‘
Su
|
s
1
(%N
N
-{:
]

levkes o;a-uc) but bo prooe (b ur el *ﬁi‘
we reed (ndecbion.
Solabions  Prn) Say S ‘3! no—n . N
Besis 31-6\() PCO\, 1S e we Sau), o
[ndeckive steP — assepme L) 5 bree so
3 decrdes k'~ k< i
use thic 4o shew Lhak Ple+) (s brae t
Ples)  says 3 | [_M+l)3-—("+l) T
; S—




We Wﬂu—\}(‘ -1—0 5'\#"\ \l *:]‘ })@*I"l\ - CIC.—F\W 4."‘() SR
('o\_z\«.{\c\le ‘e o LC?;—-LC !
(k. «0) = (e )

—
-—

K3k a3be 4\ — k- |

—
—

kK -k + 3k 3k

NON @  Can

see kel 1 B ’3( e~ te  han

we

P S ’xp-ve-

2| RkP-hk +3k*43R
( he cecse 'c- Wit = 2 khen
kK-l 3= B (m et r k) )

‘TL\(S cfn is LLS

kLo_ ;V\AhCQ’L’.JQ J’t‘tf. '33) C«éhcﬁ%

Opn)

rs kyue

Py o\l A= o

G?‘Af‘uﬁla @") Prove E;\a-‘" PLL nm ber oe IO i

gkr.kj S etc lev\j.L L n LS ’2,“ %r =20,
(Lp!t-\pm.]ﬂ-&f l_/l\g\— h'e i(—f«‘r\%S lo‘ok_ L\rl'te‘-‘_
loolollolo Pur Q.?‘-CLM‘(\(E- .
’f’m‘s ore  hes l£h§(’(‘\ =™ T
_—_—h\“kﬁ-
Solt—\h‘dm: lofn\ Sav -ELL A Yo Q,(—)- bfé S%i“ﬂ
ol lemgbt w vs 27 o




o
&c,gu‘s QLCP n=0 . ’rlfu-f“t s 1L =7 hik S‘V/d«?

mg’ 1{-\5%'/« o (‘L’l\.l_, 'Q.f'n‘ﬂ{—‘]f s%‘fﬂ«:\’). S facé
‘L/lu\&:s Ca Skfamq,e. Cafe 2 Cow QI«@(//L ()

r‘lcw P ot Pl

n=\ &y o 1 2 = F 5‘(’(:’;«1_5
%
n=2T co, C’b\!lO,L\ 2 =& _S'&V(l—-35
n=1y coo ocol,oto, 0\l (100, o\ (Lo, 1l

|
2 =% skring s,

lméncﬁ-(‘w-e__ S’t—ef)'. ASSMJ—-L P(M—] (s t'J‘LaQ,\’ SO

I

PL\&JL ere ’?_K ‘m’l— SP/IA}S of' l{-—-it—L\ <

LN

Hoc-o perseatg b s\’f(».gLS o(\)' l—e»«_gu—‘ V--H?L

Ci
RY= [ Sy = 1 BT
| ———
IPA}L’L\ 'LC t e
% 75 = —
So 2“-2. = 2. .(’ofgtrla\'llh{—?-e_s |

[ Ple) (s krne khore pmast he 27

1017" sty lnes Of& l'e"‘s ‘CL‘ 4\ 5. 5 B FCK"") v S

o
Lruwe B_tj L c‘\,nc\"t'am an) ree Pur a\\\ HZQ____‘

—_—

—_—

We can wse khig e.xcm*{\k*?- ko show that
o sok X wikh n elesents gpusb hace

N

7 smlﬂS'&»‘rS (e, !Q(X)! — 'Z_V\- Eug_f.j "H.-E'

Sl’f?vus ok lanﬁk‘—\ n a/resPU»«is o e 2. bset

aar -Q.‘x:f-tw-'nLﬁ ?_o‘\bxc,d!e;cfg_ , Epl,b) d ?
n=6 I A | I 0100

—



Rectangle

Rectangle


